


1. TREHRBEERHIKR
(CPHL 1 8 4EHE)

A By
AN
;1‘_456789101112123
AR
N
= 0] 1411t 13]13lejof 114

BEK7 4 VA% B O

BF k  #  E| 2 1 1

OB @ #4814 1 1|5 ]12113] 6 1] 4

2. BEMHMIBEERRR
CERL 1 8 4EHE)

ARl
ey
slals5iej 789 lwofir|i2]1]{2]|s
[=]
X 4
& FH113l 18t 711 { 62l 7110l2519iw0l 5! 6
Bk 7 4 b5 Fukl 4 | 3 1
Bi k& BE 716 1

W B B 02y 6| Tt 6]l 2t 7110]24] 9]10f 5! 5




(ERE 1 8 )

11ATHR~12A17H

HP/NSEE - FZELY 52 0 BEONERD - KR AZ —
DOANEER2 OREZTHN 6 AREIE 1 BBEFRL, ReEHIC

KETRHIRHREER LT,

11H9HBB~11815H
(kD & E K ST HrEEh)

3H1BE~3HT7H
(FROEE KK FHIES)

INRHE  PRERPHBRICBKRAZ—EEL, HEELSE
LEtEREEHIRIL T, N1, 2 2 0BEHRETEMFL, kKT
B5InisEh % =M LT,

MR AACAR TR~ 72y by— b EBEG L, IR~
DKFETFBh IR % Bk L7z,

HEEMIZ X 5 kK TFTREHEEZER L, RO AE#HD
BB,

HBEE - A IR - WHERERICIERERE LT, HROK

KERDOBEBTE DT,

FRISFEEER B NRHE

H e WT a0 8 0 &,

THIVEESEHR—HNEE

XK E B T

1

2 HhHERETMNEILDS £ 0FZ%




4, 3 ABREERKR

(FEL1 8 )
ik Po 1l A B O

BI3RE 3
AEESE 4
F o N L—E
WEEE 4
R RS
BHEES
BREIEE 6
BEEE 3
TREEE 25
EREEE 15
AT 1
MRS 6
RS 3
FR
P4 ERE %
LEZIS S 1
— IR
BERE
3tk - FiRE
TIEE 1
AE G
EEHipE 2
RRLZER AR
BE
BEIE 4
¥ e S BB KRS 46
FERF BB A ASE kRt g8 2
HR
AR
el EERE 78

= &t 204




5. BEERESHIRRGR

(SRR 1 B4EE)
X
& EEE 2 % gk | TEHZE | oM

ARl
&5 193 131 7 0 0 55
4 13 5 2 6
5 11 6 5
6 11 9 2
7 14 9 1 4
8 17 15 2
9 21 16 1 4
10 14 12 1
11 15 10 5
12 15 12 3
1 19 10 1 8
) 18 10 1 7
3 25 17 3

6.1B% 5 FREOEZERESHRIINR

158

600

500 |

400

300 |

200 : —@

215 213 193

100 |

0

TRIMER FRISEE LRI6EE TRITEE TRISEE



7. &EEHRE CEREER |
CER1 8%E) Nl

% 7 R s [ als 6| 7!8]olw|linle|i]z]ls
N %%&@E 803 | 81| 25| 79| 48| 57| 52| 70| 36| 57| 44| 97 {157
= "laETE 266 [ 1122392223 17| 2t |17 14| 26317 23
VW ook  EREREM 173119} 5 | 13| 1411013 8 | 6 | 11| 13| 17§ 44
o poansne BXELE] 18 | 1| 1] 1 1121 112121686
BRI T e s T2 [ 1 [ 1 2121 2| 2 2 | 31 1
270y EBE 8 |12 2|11l 6| 413 7] 3 21 9114
4 WzET/E 57 | 5| 3] 7213|355 ]|]1]9]sg]6es
e 1 =mgu | IELIE| O
KIEEE KRR =T o
e s e EREJE] 1 1
|E kR E =TE 0
"Bk BRER O
H ok B BEIE OO
~ua o EER 5 1 1] 2 1
H ok & B=EITE 4 . 1 112
T RARER 4 1 1 1 1
H kK & REITR 2 111
VIR |- =Nz | I 1|1 112 1121 1] 2
By R K BT ETEl 10 3 | 1 11 1] 1
TN | g | I 1 2 1
BAEARRE ZETE 4 3 5 ;
& 7 b HRER 12 |1 31112 1 2 2
M ok B EETEl 1 1121 1 2 3
HE kK BmERERE 200 171 7 (2315151024 12]12111]23]31
B RET/E 121 2 1212711l 9|6l 8| el ofloli1log
EEEPRMEERER 27 | 7 2 1 1 41 4 1 6 | 2
R EHRERERE 66 | 61 3| 6 51345 | 5141171013
AR AKFEER 8 1 1 4 1] 1
2% 5 % BxEIE s 1] 1 2 1
REARESERIFTRER .0
e 46 3z 4 o R IELER| 12 1| 3] 51 1 1 1
S E T 1| 1] 2 1 1
. mERE 46 | 2] 12115112t 2]s5]a]7]14
R E‘%:ﬂ}ﬁ‘a 26 1] 3] 4 3130131513
B & gk 7|13l a2l sl 76l 81 5] 8] 5 [14]020
B B % (BlIERER 0
EREBOKEREIRER 0
B EE K ERERl 15 2 1] 4 2
fEaer bREREERl 5 1} 2 1
EREEERBREIERERl 0
R ok RIEREE 1 1
H B B KEEREN 8 1 1 1 1 2 | 2




Ne.2

o ks = oy = N
o t~ o) = 9
~ 2 e | e8| =
ol B o Q 3 — ~
< L 2e} b= (o)
i r—q — Te] Lo
o o | = | s | 8] -] -
0 bk < =% 2 —_
~l el a3z 8] -
ol & | &8 | 8 | 3
ol = | 8 | 3 | 8
< =2 o8| o8
o =3} o o
e m 12.. % an e <
= B | il filn HF il _m% T
K & 3
g | E | g | L% | 2R | o
_.mm = Tz m#.A_u
—~ ﬁ_\.} mz m;m ”ﬁ_/ﬂ M@E
___nﬁﬂ Mmmrih % %«w m,mm ._...M
.m.ljﬂ e e 2 an m\_ Lo
E:._n/& k% ._m_mm E..:Afw %m T
o | B am LI | T ¥




8. &tk (EHER)

CERL 1 8 F )
B A Mg lals|e|7]s|ofwo|u]|1]2]s
& gHl1, 318 [ 114] 75 | 124]109] 97 [105]119]103] 112] 83 | 109 168

PksedmfE BRG] 320 138 7 | 2613015120026 1119 19| 46 [ 83

IKETAZFIET S o
OB O R E B

J?ﬁ%—?@éﬂﬂ%'é‘% BT
T Y P Y 5 2 6 3 4 1120 71 6 5 5 | 11} 10

KEERTDEE

=n = B 40 i 3 4 4 f 4 3 7 5 g
A4 VEIRERER] 0
SERRYEEE
BB B R
EZTEI - B Ok B

SR rannnitan o0 | 3|38 9 fujw|s|s]|i3| 7|46

ook fT E B s0o |3l sl s 3l slaslalal a7 5] a
2 % B 1 JB| 623 |51 (5260150 53]|54[59)64]55] 23] 321 65

AKIEEY - BokKBE G o 2 1} 1] 1 1| 3

B OB I E R sl 6 | 461474l 1]16fi22]8] 4] 4
EFEREZoRB o

BEfrhmbaARegE 8 | 5| 11515121251 2]+s 4 | 2

O. FIERFEZEWS
(ERE 1 84EEE)

ng%’i‘456789101112123
|
=) aH1,217 | 256 247| 48 | 16 | 42 | 151|125 53 | 44 | 71 | 37 | 127
W OKEE B R OFE E| ss 34215 312|213 4|7
FATERE D D1, 182 | 253|243 | 46 | 11 | 42 | 148|123 51 1 41 | 71 | 33 | 120




I ¢ S 18 68 Rt =1 B

1% 12 & 8 B

I ¢ Lz 1€ HREWIE SR a9

I I 02 &a i | &) )

I (T (I G (€ |17 |92 |OT {¥T (35 |¥T |92 |LT |PE [6G |6ST (T102°T [€99°T {& = H MH Iz
I ¢ |2 [N O 4 ¥ I 0z ki 2 U ;

0 PN
0 S W0 YW
I 9 ) H &% ¥ W~z
0 kA B S I
L L w % 8 A
T 61 oz s % il |
T JE (|1 (T |T |§ (€ {11 |0€ |OT (02 {2G |BT |¥E {S€ |9G |16 |6£2 {1856 °Z |10Z ‘S |2 N=2
N (FL
|8 || (0|8 o e | s w (B U %5 B 4

| moky

®
rdl

82192162 {vg |12 |0z 6T 8T qr pTjer{gr|Tijor{6|8i2|9] & VA BTl
HEHTSHEH6 TRk

TSRO 0 L




9 9 ;| ak K LT
0 a7 AL | 2ot
% % % X @
T T T e A RN (U1 S (4 S < S N
i ¥ K ¥ 4
T |I ¥ ¢ |3 |T |€ a1 {ge 198|618 60¢ O S W I & ¥
1 o A 082 €63 T 1ef &t H#{ G
G |21 [see |gve  |m Bl
Z Z BOME W W = W o
el
I ras eg o % H Hi »
0 N I 2 B
Al
I ie 76 L6 £ E T »
11 & O £ - B od 11
Z1 A % & W & o1
8 g8 & @ ¥ —\o
6
I T % 9t W | b
I I = H 2 E s
4 ] (L1
A A A N R A A N R R R 0 T v 2 357 >0 4
#olgoesm| &«
GE | 8T |9C | ST |PC |12 |02 |61 [8T{ST{FIICT{CT|TIT 01| 8 219 G 7 e B I




EENERYEERE

RENBR

(?EJE_I 943 H 31 HBEE)

B & B % B S
W B BIE| NG %2 E|& (%] — s
S| TS| B MWBREET |12 L
2P PP @Eﬁﬁ%mﬁ

ST |- S AR AR 5
= | & P vivivivl v . = Ji/73 E_E wm| Fﬁ,i,
sl loizlz|s | B * S P
~ @ﬁ?ﬁ?ﬁ?-ﬁ?ﬁ?@%%% 3 BB | m
il FAEAGAL AL g | 7| & P
CAGABEAGAEA:AALAEIG L AR AEAG AL AR -4 %

14 192 131 1 ]11134 88 181151 1] 4 1 6 79 63
15 183 131 1 110] 34 81 1781610 11 4 1 6 76 61
16 181 13 11132 80 171161 1 | 4 1 6 Th 61
17 167 1111411133 67 61161 11411 3] T4 60
i8 163 131 11101 32 64 151161 11 4 i 6 76 59




12.8=5 - EhlEEYEERTERERR
~ (Frk1 94 3 A 3 1 BE)

o , i3 - S  ® B
WENSORD  \w(E(E[E[H |6 BB BB (B —
AT & E Fe TR EAR AT 1]2|
Az lsisls || _ 1 | 7
%‘%%Eﬂ,‘/‘/:/:/‘/ﬁﬁﬁﬁﬁﬂﬁ%%ﬁﬁﬂﬁ
Noiz|zlz| 2™ Y ||
| B R B R b % FEIFE | & | | B
X 4 i A=A -AN:-AN fy | R
CAGAGAGAEABAER:GNERE AR A=A EREh
MEWSE o % jesfo|13)1]10|32(064] 0150161124 1l0lolols
5{ELLF 52 7 8 {19 14 2 )
" 5iEEBIIMELLT | 27 1 218 9 4 1 2
10 ¥ 50 u| 34 411 4 10 121 2
50 # 100 #{ 35 1 31 1 2
&
00w 150 nl § 1 4
1506 » 200 n| 4 4
il
200 » 1,000 n| @8 6
L,0o0 # 5,006 #{ O
FEIER 0
Fo¥g 0
5 B
: e 0
EAYH 160 10| 1|10} 32 64 15§16 1 {4 1 6
vl
A R | O
264g 0
B 75 3 3




1 3. MEAERDHESHFRERR

(CERE1 94 3 H 3 1 BEE)

. B2 B BT B % B
s wE[EE|&| 0|8 E T IE[E[B[ -
AlIRITI S5 5 TR ERAR AT 12|
W»}v&aﬁﬁ%#ﬁ%ﬁﬂﬁ@fﬁa%ﬁ%
3| & sl Y e = T | | R 5 | =
Nolztzlz| 2™ SlElsl
| gl g= | o | Bt =1 7o y’
_@ET&TETETETE%%I’ AR AR
% 4 P | | | AEAE
CRAGAGAGAGAGRGA:ENGEE IR AN
&t 63| 0 |13 1(10{32] 064|015 141 1]l0l0o]lols
Z KRB 10 3 4 1 2
b & 38 3 5 26 113
B OE 6 2 2 2
# oI 4 2 1 1
BE L R| 7 1 3 211
T 0
| OB 5 3 2
£ & 2 1 1
A BB 2 1 1
s [ 4 111 1 1
= 2 1 1
F X 1 1
graB Y| 4 i 1 2
# & 26 1 718 1 2 311 3
H o B 1 {
B 0
P 1 1
i 8 4 1 3
= 42 41111129 26 1151141

— 44 —




1 4. ERYEEMEHE - BHFHH
(CEmk 1 84ERE)

fr m B W P
REFEORD| |\ BRE ||| B B E|B|—
ST & 8 eI AR T 112
AEAFAEAT S P2l I ARAR
il ol vivlivlv] BB MR8 g g
Tiololololo B %f—a 7
Gl aadlal A e kS i | |
X 4 B EAN-A- AN AL gy | & | B’
CABEAGREAGAEAGANARE AR IR Al
) b & 9 2 5 1)1
n 75 [ 15 5 511 3|1
T | BT AT E T Iz 6 6
DER lwmwrrosma | 0
58 B & 7 2 5
X % E 9 2 4 211
i
ZA|MAITETF»HEA| 0
JBE fin J&| 5 1|1 2 1
FAORDHELMLSDO
B = B 4
EEREHE 2
e AR ERTRE R 0
TEHRERE - FEARHRLE 3
{RE AR 10
IRETRR - IREHR AR EE 0
AR AT RS 0
B ER TSR 8
EESER 3
ma., BEZOERE 11
REZEEE B EE 11
BREROENELFER 8
PRIk - BB & 0
JEXE T B F Vo T AEDIFBRXIIRR WV ORBEHE 4
JERET EF Lo W AZEOIRBX IR VWORIEEHE 0
BTZ 7 S0RREOEBRVREY DR L OCEOHBEOEE 4






